+ TAIZHOU

1986

A11VO/10 Varlable Displacement Piston Pump ETERNAL HYDRAULIC

A1MVO/M0Z P T A ER

#7 i® Overview

AT1VSOMORFTEXERHAMNEAMEEETER, HHATIH
FITEVMH AT, BMREEAFRXEERERZNZITH, RABMHER,
E LAEE N T£35MPa,

A11V(S)O/10 series variable displacement piston pump swash plate axial plunger
variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated
working pressure up to 35Mpa.

HE il 1R
piston tylmder black control vale
returning pistan
l_h—| J i
\ = end cover
I==3 T N
Jt A= - —- e
case "
R ==
(,/ / y b1 I
| \ / |
E‘ Ro = wis
fezhih W — j -
shaft X — i -
ik A i B RIEE
swash piafe rase platon tonfrol piston
e Features
MPBERHEREETER, ATARKBEERERS % Variable pump with axial piston rotary group of swash—plate
g LS design for hydrostatic drives in open circuit.
% E B AT EVE KGR B TTE »* Designed primarily for the use of walking machines.
0 o
ot X s . #* When the mailbox is pressurized or when an optional built—
XIEHAA I E S E AR N EMER(HR)BEGT, . . . .
in impeller is used The pump is operated under the condition of
RERDRERRE TR automatic start—up and oil injection.
IR R BT A Z R B HIE L, % Provide a variety of optional control parts to meet the
X IR GRS ESINER A, BMEYRIZITR e requirements of various applications.
T »* Power control optional parts are externally adjustable, even
B ERIE IS A N S T R (A 2 when the pump is running.
) : DN SR % Through shaft drive is suitable for adding gear pump and axial
KEH IR E S IREEE R HS@'J#E._”JZ'EQV maxa:uqv min= piston pump.
0Z B LK, % The output flow rate is proportional to the driving speed and can

vary freely between qvmax and qvmin=0

115



B 24518 Type Code

1-4fEHEZEITH Axial piston unit

##igit. TE. AFEHN 350 bar, HKEH 400 bar fe
Swashplate design, variable, nominal pressure 350 bar, maximum pressure 400 bar
2-IniF R (Ft#E) Charge pump (impeller) 95 130 145 190
A MER (3% E R ) without charge pump (no code) e | o | o | o
#A MiEZR with charge pump -l e | ®| @ L
3-iZ% Operation
%R, FX[EEE Pump, open circuit 0
4-}#% Size
~HEE Vgmax(cm®) ~ Displacement Vgmax in cm® 95 | 130 | 145 | 190
5-#z#l #1148 Control unit
IhE R HIPower control o | o | o | @ LR
5 E H V1B Th Z $2 silwith pressure cut—off and Power control e | o | o o LRD
’r’ﬁfﬁﬁﬁtﬂﬁﬁﬂﬁiﬁﬁﬁiﬁﬁw$f§ﬂ ' e INs Ve lliNe LRDS
with pressure cut-off and with load sensing Power control
T2 PRALIN 2 42 Hwith stroke limiter and Power control o | o | o | o LRDU2
JE /1324 Pressure control ) ) ) ) DR
5 $h iU E 142 il with load sensing and Power control e | o | o | o DRS
3 Lk fil#2 #l Electric control with proportional solenoid ) ) ® ) EP2D
6-%71 Series
4
7-%&3| Index
M 95 130 0
##& 145 190 1

B & iEBAChart shows: @=m] LlfitfkAvailable, O=FE# & HIn preparation, —=JcNot available

116



8-Hekerm ( MihinE )

Rotating Direction(View on Shaft End)

JliEF £t Clockwise R
PR £t Counterclockwise
9-Z %t Seals
THBENBR, IF&EBE Shaftseal FKM N
10-4f3% Shaft end 95 130 145 190
ATRFZRMAERHOEEH DIN 54808 plined shaft DIN 5480 for single and combination pump | @ ® ® ® z
Lg%, 754 DIN6885 Parallel keyed shaft DIN 6885 ) ) © ° P
&% ANSI B92.1a-1976 ATBHR forsingle pump oo 0o |0 S
Splined shaft ANSIB92.1a-1976 | mFH&%  for combination pump - L - ° T
11-223E 3% 2 Mounting flange
SAE J744- 4 F1. Hole e | o | o | o D
12-T{E& #&iM O Service line ports
SAE ﬂﬂ']):l_zjj'—iﬂﬂil_ﬁlil, Nﬂﬂ(%’ﬁf&%ﬂ%lﬁlﬁ%ﬂ) _ _ _ ° ° ® ° 12
Pressure and suction port SAE, at side, opposite side(with metric fastening threads)
13-i@%#HIKZh Through drive
& = SAE J744 TEHE B A BT
- - [ J [ J [ J [ ] NOO
——— 5/8in 9T 16/32DP (A) o | o (0| o Ko1
3/4in 11T 16/32DP (A-B) (] [} () ® K52
7/8in 13T 16/32DP (B) (] ° ° (] K02
101-2(B) 1in 15T 16/32DP (B-B) e | o | o | @ K04
W35 2x30x16x9g ® ® ® [ K79
1 1/4in 14T 12/24DP (C) (J () ° [} K07
11/2in 17T 12/24DP (C-C) (] (] (] ® K24
127-2 (C)"
W30 2x30x14x9¢g ® ® ® [ K80
W35 2x30x16x9¢g ® ® [ ® K61
1 1/4in 14T 12/24DP (©) (] ® ® ® K86
1 3/4in 13T 8/16DP (D) - (] (] (] K17
152-4 (D) W40 2x30x18x9g o | o | @ K81
W45 2x30x21x9g ® ® ® K82
W50 2x30x24x9g - ® ® ® K83
1 3/4in 13T 8/16DP (D) -l -] -|e K72
165-4 (E)
W50 2x30x24x9¢g - = = ® K84

E| & BHChart shows: @ =] A fitt£Available, O=7E# & HIn preparation, —=7JcNot available

117




K &% Technical Data
HiER (BiRE, AEEREMAE; IELUE)Table of values (theoretical values, without efficiency and tolerances; values rounded)

& Size A11VO 95 130 145 190
HE Vgmax | cm® 93.5 130 145 193
Displacement Vgmin cm® 0 0 0 0
%’i :zf;;’m%*ﬁ_ Nmax | rpm 2350 2100 2200 2100
Vg < Vgmad' BRI KIE Nmax1 pm 2780 2500 2500 2100
Nmax F1 Vg max Bt AU qumax | L/min 220 273 319 405
Qumax 1 Ap =350 bar FFEIZNZE |  Prmax kW 128 159 186 236
Vgmax #1 Ap = 350 bar BfFI#4E Tmax Nm 521 724 808 1075
Z% |Nm/rad 199601 302495 302495 346190
R P#h |Nm/rad 196435 312403 312403 383292
Rotary stiffness S#h |Nm/rad 173704 236861 236861 259773
T# |Nm/rad = - - 301928
ﬁ:nﬁn?ﬁzﬁior RS Jw kgm? 0.0173 0.0318 0.0341 0.055
iﬁi?ii’g;ration, max’ a rad/s® 13000 10500 9000 6800
JniEZEE Filling capacity Y L 2.1 2.9 2.9 3.8
JRE (E{UE) Mass (approx) m kg 53 66 76 95
& Size A11VO samiER) 130 145 190
HE Vgmax | c€m?® 130 145 193
Displacement Vgmin cm?® 0 0 0
%’i i‘:f;gm%kﬁ Nmax | rpM 2500 2500 2500
Vg < Vgmax'' FHHIRKIE Nmax1 rpm 2500 2500 2500
Nmax F1 Vg max B AR Qumax | L/min 325 363 483
Qumax 1 Ap =350 bar FFEIZNZE | Prmax kw 190 211 281
Vgmax 1 Ap =350 bar BHIHHEE | Tmax | Nm 724 808 1075
Z% |Nm/rad 302495 302495 346190
BRI P# |Nm/rad 312403 312403 383292
Rotary stiffness S#y |Nm/rad 236861 236861 259773
TH |Nm/rad = - 301928
ﬁ;fn?cﬁiﬁior Bery grou Jrw kgm? 0.0337 0.036 0.0577
iﬁiﬂiﬁemtion, max:’ é rads’ 10500 9000 6800
fniE 2 & Filling capacity Y L 2.9 2.9 38
JRE (IE1{E) Mass (approx) m kg 72 73 104

1) BEEAFHEXTET (pabs) 1 bar THIRIMO S F8 M RiRETRE .

2) HEIE A FHITES (pavs) Z2) 0.8 bar THIRIMO S Fa™ MR EFRE o

3) HEIEAT Vo < Vomax RO S BN O EF] pavs IIER T (SR 6 WHIER)

4) BRI 0 MR AR IFHEZ B,

EEATINDIE (FlnE B ENAE DR 2-8 15, FETHENIAEDRERAE).

- RRMECGER FRER.

- B ERN AT,

Al B RIFRIBRER RE S B ETHINAERK . ERASFWHHEESIMHRR, LHERTIESITERE,

118



AR E¥ Technical Data
1&BNEH A £ 156 2 04 5] §1 2% Permissible radial and axial loading on drive shaft
Frid${EARAE, ARIFHTEEET,

The values stated are maximum data and not permissible for continuous operation

#1& Size A1 Size 95 130 145 190
BXEES, Fomax| N 8000 11000 11000 16925
BEEgAa. b, ¢ Fy a mm 20 225 22,5 26
(BEFASS)
Radial force, = Fama| N 6334 8594 8594 13225
max. at distance| B mm 35 40 40 46
a, b, c(from abc Fomax| N 5242 7051 7051 10850
shatt collar) c mm 50 575 575 66
Eij(-trﬂl 771 Fa; .—l— _‘ i) Eo— N 3500 4800 4800 6000
Axial force, max| % H[[/
RIFHIENHAEFNE HIR ZhH14E Permissible input and through drive torques
#1& Size H#% Size 95 130 145 190
146 Torque
Tmax Nm 521 724 808 1075
(TE Vgmax F1 Ap = 350 bar”)
BARNLE"
7E P HithsE DIN 6885 1044 1448 1448 2226
Input torque, max” TE perm Nm
atshaftend P $45 50 %50 55
Shaft key DIN 6885
7E Z thi% DIN 5480 2190 3140 3140 3140
TE perm Nm
at Z shaft end DIN 5480 w45 W50 W50 W50
7£ S ¥ at S shaft end - N 1640 1640 1640 1640
E perm m
ANSI B92.1a-1976 (SAE J744) 13/4in 13/4in 13/4in 13/4in
TE T #h3% at T shaft end = - - 2670
TE perm Nm
ANSI B92.1a-1976 (SAE J744) . - _ 2in
= kY = 3)
ﬁkﬁﬁmggm*ﬂﬁ s To perm Nm 822 1110 1110 1760
Through drive torque, max?
1) SR B EEBE Efficiency not considered
2) A T% B 128 /1H3K 0% For drive shafts with no radial force
3) iE B S HIR KM H4E Observe max. input torque for shaft S
H%4>% Torque Distribution WEATRIE
_ Vg°nenv Urmin
T, T, i o 1000
Vg A Nm
e 20+ T em,
—& | -
First pump ! Second pump W& P — 2neTen = q° Ap W
60,000 600 * M

119

Vo =8#HE (cm )

Ap = [EZ (bar)

n = 3% (rpm)
nv=BMRHYR

N mn = LA - RERER
nt=B%E (nt=nv * Nmn)




LR- ZhZ 54l Power Control

hEEHBRETEENATROHR, A\FiTEEEhEETrS Lrit [ Circuit diagram LR
BT ERIIREI TR, #H& Size 40--++-- 145

The power control regulates the displacement of the pump depending
on the operating pressure so that a given drive power is not exceeded W@W

at constantdrive speed. ]

B = T{£JE /] operating pressure : : o .
ps * Vg = %% Constant P o P 9P < e | o o
Vg = HEE displacement ;| P

1 FA M M RO AS TR RE S SEIN AT A T RS 2 FI A .
The precise control with a hyperbolic control characteristic, provides an ; |
optimum utilization of available power. A1/t EZI

TEEHBEENEFEERTEN. SMBTEEEE S 5ILERE,

EREWEXREE,

The operating pressure acts on a rocker via a measuring piston. An
externally adjustable spring force counteracts this, it determines the
power setting.

MR TIEENBITEERIEE S, EATIRIIEE R B R (FAE

Vomin)o FEFFKESE, TEENRMENESHENRIKERR, [ & Size 190--++--260
FASBEIRHINE (s + Vo= EH)o

If the operating pressure exceeds the set spring force, the control valve
is actuated by the rocker, the pump swivels back (direction Vg min). The

lever length at the rocker is shortened and the operating pressure can :NU:EM
increase at the same rate as the displacement decreases without the T M A

drive powers being exceeded (ps - Vg = constant). 1 ‘ o

RERIHINER (LR #5iE) SRYEMHM,
The hydraulic output power (characteristic LR) is influenced by the
efficiency of the pump.

127 FA A STt RA State in clear text in the order:

- IXZNIHZR P (kW) — drive power P in kW
— t£Zh# B n (rpm) — drive speed nin rppm
— B KIRE qV max (I/min) — max. flow qv max in I/min

FERRFEME R, RIMMBKATERINEE,
After clarifying the details a power diagram can be created by our
computer.

320 bar

BEBE
_| =l

TES pe (bar) =
Operating pressure pB in bar

50 bar

Vgmin  #HEE Displacement — Vg max

120



LR- Zh&E = HI Power Control
LRD # A EAYIEaIThZ#%] LRD Power control with pressure cut—off
HIXEEEER, EAVIER G RAFEETE Vomn BIE 1354,

The pressure cut—off corresponds to a pressure control which adjusts the pump displacement back to Vgmin, when the pressure setting
is reached.

ZIREHAUTRI T EREE], BMRTMEENER, ThERINEEER.

This function overrides the power control, i.e. below the preset pressure value, the power function is effective.

ENVIBIhRESR R RIZRIEIR S, FHAEL AIERINEE.

The pressure cut—off function is integrated into the pump control module and is preset to a specified value at the factory.

BETCEM 50 F 350 bar  Setting range from 50 to 350 bar

LRD ##f# Characteristic LRD LRif1#&E CIRCUIT DIAGRAM LR
#Hig SIZE 40------ 145

—-—

max

350

T1EEH PB (bar)
S ESEE

Ti M |A
L bl L5
LY R S
Vg rax Vg min
50 - TN § il
| ! g
ralm okl |
Vg min Displacement — Vg max FiL ; |
R T2 M1 S

& SIZE 190:----+ 260

121



LR- ZhZ 54l Power Control

LRDS A [E 11070 £ 2 2% B2 Y Th R 2 )
LRDS Power control with pressure cut—off and load sensing

AR MIZHISRRE—MEA G BE N REETHIR SR %
%, MURBEHITIMREE KAT RIS,

The load sensing control is a flow control option that operates
as a function of the load pressure to regulate the pump
displacement to match the actuator flow requirement.

xlill.;ﬂi/;%:]:ﬁzzrzﬁﬂj OAFAHATHLE Z 18] B SNSRI R 537
L) WEEE, ZRESKTIhRBEMENVINZE R
FIZEEE NN RHENTX,
The flow depends here on the cross section of the external
sensing orifice (1) fitted between the pump outlet and the
actuator. The flow is independent of the load pressure below
the power curve and the pressure cut-off setting and within the
control range of the pump.

BN TR LB A — A BRI B 60 S BB 77 18] 1) (BRI BR)
FEREENMERE T RETRILAF OEETE, MMk
E—.Tﬁﬂ’]umio

The sensing orifice is usually a separately arranged load
sensing directional valve (control block). The position of the
directional valve piston determines the opening cross section
of the sensing orifice and thus the flow of the pump.

PR RIE L RN TR FLAT/E M E 1, FHERRBIT LA
EFE (EEAp), NMERTERFEE,

The load sensing control compares pressure before and after
the sensing orifice and maintains the pressure drop across
the orifice (differential pressure A p) and with it the pump flow
constant.

INSRAARIFLALEZE Ap tEK, FRMFE (FAE Vomn), TR
REEA p B , MZREEH (gﬁ 18 Vg max) 5 BRI A BMFLE
HIERERE.

If the differential pressure A p increases at the sensing orifice,

the pump is swivelled back (towards Vgmin), and, if the differential
pressure Ap decreases, the pump is swivelled out (towards Vgmax)
until the pressure drop across the sensing orifice in the valve is
restored.

Aps=px-p#se A Porfice = Ppump — Pactuator

Ap WiEETEE7E 14 bar #0 25 bar Z 8],
The setting range for A p is between 14 bar and 25 bar.

IREEEIEERN 18 bar, (TR, EIBACHER),
The standard differential pressure setting is 18 bar. (Please
state in clear text when ordering).

FITRET BETRTLELD NOERENEST AP
Ei8.

The stand-by pressure in zero stroke operation (sensing orifice
plugged) is slightly above the A p setting.

T LS BGeh, ENYVIMTRERMRERITHISF. ELUDV
(REHR) Rgh, EAYEREAERE LUDV ITHIERS.

In a standard LS system the pressure cut-off is integrated in
the pump control. In a LUDV (flow sharing) system the pressure
cut-off is integrated in the LUDV control block.

(1) BETRFL (ZHHR FERETEERA
(1) The sensing orifice (control block) is not included in the
pump supply.

122

LRif#&E Circuit diagram LR
#1& Size 40------145

X
,,,,@Xj
Ty M ‘ A
o iL, ,,,,,,,,,,,,,,,f','l,,,,,,,,,,,,,,,,,,, %,¢:
Vg max "~ Vg min
e bl
FIMF Ny il
R T M; S

#ig Size 90-+--- 260

=
.
-
=
=

B %

Tq A
Vgmax ~ Vg min
rﬂi—ﬁj firg iN ‘ |
R T My S
454 LRDS Characteristic LRDS
i 350
5 3
Q =
o &
a2
=1
H e
Hs
50
Vg min Displacement — Vg max



LR- ZhZ 54l Power Control
LR... FITIEPRAIZS R ThRI=HI

Power control with stroke limiter

FTIEBRGLER T A FE B MR S Bl L E S s IR R HE

£, HIEERERAZROY WESET pst (FX 40 bar) 7
LRH Fsilid{E A Z L R RSk AR R R 7E LRU HRIRE,
FE 12V (U1) 224 V (U2) BB 7 B SRR FI LL B ERREER

The stroke limiter can be used to vary or limit the displacement
of the pump continuously over the whole control range. The
displacement is set in LRH with the pilot pressure pst (max.

40 bar) applied to port Y or in LRU by the control current applied
to the proportional solenoid. A DC current of 12V (U1) or 24V
(U2) is required to control the proportional solenoid.

ThEE GBI TR R AL AR T S TR 6], BMRF Itk
&R, HEEhERBRRIESENEF, HiEERE
SR E B ThERS IR, DhERE HIRAE F) 1A X
SHHERUNES,

The power control overrides the stoke limiter control, i.e. below

the hyperbolic power characteristic, the displacement is controlled
by the control current or pilot pressure. When exceeding the power
characteristic with a set flow or load pressure, the power control
overrides and reduces the displacement following the hyperbolic
characteristic.

AT RFRAEEH N ERIBME Vomax Bl Vomn R1E, BF
TTREPRALAR LRU1/2 TNk E1TIRBRAIRT LRH2/6 5% 30 bar
HI&m/AMESIES

To permit operation of the pump displacement control from its
starting position Vgmax to Vgmin, @ minimum control pressure of
30 bar is required for the electric stroke limiter LRU1/2 and the
hydraulic stroke limiter LRH2/6.

R R E 15k B L8 E N SSMERHEINSS G it HRUIEHIE T,
The required control pressure is taken either from the load
pressure, or from the externally applied control pressure at the
G port.

ATHRERTEENTITRRRMAF[BEETIE, L AHMO

G 125K 4 30 bar BISMETEHFIE S o

To ensure functioning of the stroke limiter even at low operating
pressure, port G must be supplied with external control pressure
of approx. 30 bar.

EE Note:

WRZETE G AEREINEMEHIES, FHZIREMR A,

If no external control pressure is connected at G, the shuttle
valve must be removed.

123

2= Note:

ERISRPRRE S NEEHIERLEE

The spring return feature in the controller is not a safety
device

EHIRPHBRRTESENBRY (REBRR. R
HHERITRY) FEAHEMLE, N, Btz
UL EBHMIRIERIEENRE,

The spool valve inside the controller can get stuck in an
undefined position by internal contamination
(contaminated hydraulic fluid, abrasion or residual
contamination from system components). As a result,
the axial piston unit can no longer supply the flow
specified by the operator.

KWEEEFEEEHIEE D RIGMEEE, USRS
BITHRBEREME (EREN).

Check whether your application requires that remedial
measures be taken on your machine in order to bring
the driven consumer into a safe position (e.g.
immediate stop).



DR - E A#=#l Pressure Control
BIEERETNERT, EHEHbaeEEEteE NREF
BERZENNENRE, TERIARBAITEAENRE
Mo MRITEENERENEENEHRHIEENIZES,
RHA=B3ER, HEENRESERE,

The pressure control keeps the pressure in a hydraulic system

constant within its control range even under varying flow conditions.

The variable pump only moves as much hydraulic fluid as

is required by the actuators. If the operating pressure exceeds
the setpoint set at the integral pressure control valve, the pump
displacement is automatically swivelled back until the pressure
deviation is corrected.

ﬁﬂEﬂkﬁE‘]ﬁﬁﬁﬁE H Vg max

Starting position in depressurized state: Vgmax

& &G E M 50 2 350 bar,
Setting range from 50 to 350 bar.

4%, DR Characteristic: DR

* max Y
_. 360
= W A
L g
S|l ——— 1o
R 2 \| L
: K
H —_—
\
%0 min Y
0

124

DR Circuit diagram DR
1% Size 40--+-+-145

Ty A
Vgmax Vg min
””” iy
H RS S § |
R T, m S
#11& Size 190-++---260
A




DR- I &5 #l Power Control

DRS 5 fa #k B R O E 1 LRiM&E Circuit diagram LR
DRS Pressure control with load sensing & Size 40+ 145

AR MIZHISRRE—MEA G BE N REETHIR SR % X
%, MURBEHITIMREE KAT RIS,

The load sensing control is a flow control option that operates JEE
as a function of the load pressure to regulate the pump ===
displacement to match the actuator flow requirement. «;E_E

i<
a
=
—
—
=

ZiRERR T REARH QOMBITIE Z B HISNERREL TR T | M A
LO) WEEE, ZRESRTEAVINEE R RIEHEE | : < [
ARG EENTX, ; i
The flow depends here on the cross section of the external ivivi — F ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
sensing orifice (1) fitted between the pump outlet and the
actuator. The flow is independent of the load pressure below
the pressure cut-off setting and within the control range of the

L] ;
pump. ””” ’ EZI ‘

BN TR LB A — A BRI B 60 S BB 77 18] 1) (BRI BR) i .
FEEEENERE T REHRANTF OREE, AR R T2 M1 S
E—.Tﬁﬂ’]umio

The sensing orifice is usually a separately arranged load

sensing directional valve (control block). The position of the

directional valve piston determines the opening cross section

of the sensing orifice and thus the flow of the pump. #1E Size 190------ 260

PR RIE L RN TR FLAT/E M E 1, FHERRBIT LA X
EBE (FEAP), NMERTEMRFIERE.

The load sensing control compares pressure before and after
the sensing orifice and maintains the pressure drop across
the orifice (differential pressure A p) and with it the pump flow
constant.

INSRAARIFLALEZE Ap tEK, FRMFE (FAE Vomn), TR . |
%E%Apiﬁﬁd\, MZREEH (gﬁrﬁngmax), BRI A BMFLE i
HIERERE. vl
If the differential pressure A p increases at the sensing orifice, Vg fax_~ Vg min
the pump is swivelled back (towards Vgmin), and, if the differential
pressure Ap decreases, the pump is swivelled out (towards Vgmax) ; |
until the pressure drop across the sensing orifice in the valve is L e =

restored. “ﬂ_‘ﬁj sk |

Aps=px-p#se A Porfice = Ppump — Pactuator R T M; S

Ap WiEETEE7E 14 bar #0 25 bar Z 8],
The setting range for A p is between 14 bar and 25 bar.

IREEEIEERN 18 bar, (TR, EIBACHER),
The standard differential pressure setting is 18 bar. (Please
state in clear text when ordering).

451: DRS Characteristic DRS

f max Y
BTRET BEBRILED HHNERENBRST AP — 350 3 3 N i
B, 82 5
The stand-by pressure in zero stroke operation (sensing orifice E_ % | | | -OQ
plugged) is slightly above the A p setting. = T -— ~

R ¢

s T T 3@
(1) BEIHRIL GERI FERSEICER. 3 NN D e
(1) The sensing orifice (control block) is not included in the Hs [ -
pump supply. | | |

50 — J— —_ -J— J_
min
0

g qv (L/min) ——

125



DR - £ 2324l Pressure Control
DRG iZf2JE S1i=Hl
DRG Pressure control, remote controlled

IR ) E S VI8 T 88 AT LB IZ R R M IE iR (1) 1A
TENMEE, EENESREETIEHERPHEETRL
=i,

The remote control pressure cut—off regulator permits the
adjustment of the pressure setting by a remotely installed
pressure relief valve (1). Pilot flow for this valve is provide by
a fixed orifice in the control module.

R ETEEIM 50 I 350 bar,
Setting range from 50 to 350 bar.

Mesh, BITIMBRIER 2/2 BT R (2) PTG SRENH R &
RENRE.

In addition the pump can be unloaded into a standby pressure
condition by an externally installed 2/2—way directional valve

@).

TR B fE A A& ER (Sl EEE).
Both functions can be used individually or in combination (see
circuit diagram).

SRR B SR — LAY

The external valves are not included in the pump supply.

YEASIEIESI (1), AR

DBDH 6 (F3h#2#l), £ RC 25402

As a separate pressure relief valve (1) we recommend:
DBDH 6 (manual control), see RE 25402

4%i£. DRG Characteristic: DRG

* max Y
_. 360
5 W A
£ 3
S|l —— e
R 2 \| L
- K
H —_——
\
%0 min Y
0

EE: EEEHENTIMETIE LR, HDFIEP A&,
Note: The remote controlled pressure cut—off is also possible in
combination with LR, HD and EP.

DRG Circuit diagram DRG
1% Size 40--+-+-145

I
:

Juviva| | - S S
Vgmax Vg min

#1& Size 190----+-260

,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,

v I
Vgmax ~ Vg min

i
5

126




EP - 7 b 51 s Bl Bk Y FRL U

EP - Electric Control with Proportional Solenoid

B A LGB R kR BB FIRH], SRR LBl
RHEE, MMF=EmEs, ERERRESREREEN
EHIBO .

With the electric control with proportional solenoid, the pump
displacement is adjusted proportionally to the solenoid current,
resulting in a magnetic control force, acting directly onto the
control spool that pilots the pump control piston.

M Vgmin Z Vgmax BJ32H]  Control from Vg min to Vg max
REE = HIRIRAIIEM, RATERKHE,

With increasing control current the pump swivels to a higher
displacement.

AHEEFIESHERME EHRR):

- ETEENFISMBIESIE S < 30 bar BF: Vgmax

- ETAEENSSMMEHIE S > 30 bar Bf: Vgmin
Starting position wthout control signal (control current):
- at operating pressure and external control pressure
< 30 bar: Vg max

- at operating pressure or external control pressure

> 30 bar: Vg min

HRMERIGELE Vomax B ZE Vomin 52 30 bar B HIE
A control pressure of 30 bar is required to swivel the pump
from its starting position Vgmax to Vgmin.

R HE 15k B U8 E N SSMERHEINSE G it DRI SIE S
AT HRREMEE(RTIEES (< 30 bar) THAT#HITIES], #M
Xt O G HEANZY 30 bar BISMEREHIEF1o

The required control pressure is taken either from the load
pressure, or from the externally applied control pressure at
port G.To ensure the control even at low operating pressure

< 30 bar the port G must be supplied with an external control
pressure of approx. 30 bar.

EE Note:

WRE G IR B EEIINBIERIES, RIZIFRER IR

If no external control pressure is connected at G, the shuttle
valve must be removed.

EE Note:

RELERT YR ER AR A RimE A R K 80°C A&k
TEMEPRESE EP EHIR,

Install pump with EP control in the oil tank only when using
mineral hydraulic oils and an oil temperature in the tank of max.

80C.

R T TR F) BT AR A =T R /B B L B R sk (LTS I
www.boschrexroth.com/mobilelektronik) :

The following electronic control units and amplifiers are
available for actuating the proportional solenoids (see also
www.boschrexroth.com/mobilelektronik):

— BODAS #Z#lI8§ RC BODAS controller RC

%%l Series 20 RD 95200
%%l Series 21 RD 95201
%5l Series 22 RD 95202
%%l Series 30 RD 95203
FNRzF % and application software

- B AZE RA Analog amplifier R RC 95230

127

EP1/2 451% Characteristic EP1/2

* 1400
= 1200
E vd
= 1000 %
s EP1 /]
ﬁg 800 )
£ //
— 600 v
5 / EP2 | -~
5 g T
©400
9 ‘/
g LT
O 200
0 0,5 1,0
Vgmin  #EE Displacement = Vg max

EP1/2 il #&& Circuit diagram EP1/2

#ig Size 40...260

T4
Vg max Vg min
| = ]
R T My S
HAREIE, EP1. EP2 AbRIFBRESK
Technical data, solenoid at EP1, Ep2
EP1 EP2

F [EVoltage 12V (£20 %) 24V (£20 %)
=4 7 Control current

HEZ A Vomin BRI I HIEAE 400mA 200mA
Start of control at Vgmin

g‘i I% =7 V max H‘

FEHIL AL E (R Vorac BY) 1200mA 600mA
End of control at Vgmax

BR %l FE 37 Limiting current 1.54A 0.77A
AFREEE (20°CHs

F .EBB ( ) %) 550 22.7Q)
Nominal resistance (at 20° C)

#1508 Dither frequency 100Hz 100Hz
JEzhAtE Actuated time 100% 100%




EP-7 bl 51 i gk 3% 1) i SUER )

EP - Electric Control with Proportional Solenoid

EP.D HH EAVIRTHI R FiH
EP.D Electric control with pressure cut-off

HXBEHRER, EAVIEEAERAEERETE Vomn HIE
F¥EH,

The pressure cut-off corresponds to a pressure control which
adjusts the pump displacement back to Vg min when the
pressure setting is reached.

ZThEEAIE S EP 424, BRI SHEEIEHA XMIEH ERER
FigBEEATI,

This function overrides the EP control, i.e. the control current
related displacement control is functional below the pressure
setting.

ENVIMRERAEEHTESR, FEHAREZERENM
EENE,

The valve for the pressure cut-off is integrated in the control
case and is set to a fixed specified pressure value at the
factory.

& EIEEIM 50 21 350 bar
Setting range from 50 to 350 bar

EAIET4FED
Pressure cut-off characteristic D

* 350 max Y
- 3
8 8
=~ = o
—
i £
e L
H Y\

g Tmin

w& q,(L/min)  —»

128

EP.D jh#&E Circuit diagram EP.D

#ME Size 40 ... 145

T'.
: '
| ¢ \ Vg max ~ Vgmin
h-g( N5 =
o B
:'EI.;.I:F: olak !
R T, W S
& Size 190:++:+-260




SMERST #i4% 95

Dimensions size 95

LRDCS

WEEAVIE D, XS C A FBMIET S BIhZEES LR

Power control LR with pressure cut—off D, cross sensing control C and load sensing control S

*) Eil
292 *) Center of gravity
284 WEY View Y
155 JIRAT$THERE clockwise rotation
149" (I EF$THESE) (counter—clockwise rotation)
10*
13 Zl| Ty M Z
48
1 // .-.Z:
127 T /’“ B
A oL
3 || =
<| = @ \J @ Q\ S} %
g f--Jt------3 RO 1
A ) © 9
T &
I jg
LT
#2SAE J7a4 R M1
152-4 (D)
5= SAE J617
150 (SAE 3)
20 W
X| T 8
Z
R e
- D @ 9 ololP
@ @ N |+~
| el o
A ,,,,E ],,@,,/,, i
o O~
o~ ==
E ol
L[| L ‘ © |0
L} Ll | [ [ M § § % § 8 §
287 Ql el ol al al &
T, 1 A
Vv
W a1 F &R E V B FEBAE
lli T [ [
@ A\
| 5 3\
) o N
- 2 ‘8 NCEERE e
o of
i

1) #f& SAE J617-No. IR, FAFEEZE M CRTEE
1) Dimensions according to SAE J617—-No. 3, for connection to the flywheel case of the combustion engine

129



S RT #k 95

Dimensions size 95
% Shaftends
Z %4 DIN 5480 HyfE52 % P #& DIN 6885 HJF &4 - S E§2Hh SAE J744
W45x2x30x21x9g As 14x9x80 13/4in, 13T 8/16DP3
50 67
82 &
a 36 [S) 36
= = 36 =
ol 12 S 3| 12
& s 0| o 12 E1x0.2 =
= | 3 DIN509 2
I 2 = = = =
5 i 5 zr zz7ll\ 5 3
) 9 < ] R2.5/4
, | | )
42 : 55
60 o0 75
0 Ports tRf Standard # 1% Size? SXEA(bar))| 7 State
A LAEE MO Service line port SAE J518 1in - 8
EI &L Fixing thread DIN 13 M12x1.75; 17 (%)
s 1% i# O Suction port SAE J518 3in 4o o
[ £ $8 8LFixing thread DIN 13 M16x2; 24 (%)
1! B0 Tankport DIN 3852 M26x1.5; 16 (i) 10 5)
R #HES O Airbleed DIN 3852 M26x1.5; 16 (&) 10 X
MBS, EMRE
M1 Measurement point, positioning| DIN 3852 M12x1.5; 12 (iR) 400 X
chamber
WMESR, THEERHO
M Measurement point, service line| DIN 3852 M12x1.5; 12 (&) 400 X
port
K£SEAMO
X EHEFHHFBRBA (S) MTEEH | DIN 3852 M14x1.5; 12 (i¥) 400 0
EA 118 (G) MBS F
EESEA®KO
Y FEFHITEMRAE(H...). 24 | DIN3852 M14x1.5; 12 (iR) 40 o)
EH Y18 (E) #1 HD B S
EpEn,
X BB (C) #A ) . 400
V4 Th = RS (LR3) DIN 3852 M14x1.5; 12 (i) 40 o)
ThEMRIES (LG1) HE S
1TEBRALES (H.., U2). . 5
G Zamgwms GE10- PLM iy Hp| DIN 3852 M14x1.5; 12 (&) 40 o)
0 EP MR S (BTN XH)

1) #F& DIN 332 #RAERIHROFL (FF& DIN 13 AR/ ISR LY)
) BARAKEHLE, EFEBERIESNE140 T EH—
fgi5 A8
3)ANSI B92.1a-1976, 30° EAHfs, T£HiR, MEES,
NEELS

4) RIBATSEE TIEE S
5) RI|BLBMBNTRE, BREETIHT2
O=#17F, WREE (ZfIEEHEL)
X = XM (FEIEFIETH)

1) Center bore according to DIN 332 (thread acc. to DIN 13)

2) For max. tightening torque, please refer to general notes

on page 140

3) ANSIB92.1a-1976, 30° pressure angle, flat root, side fit,
tolerance class 5

4) Depending on adjustment data and operating pressure

5) Depending on installation position, T1or T2 must be connected
O = Open, must be connected (closed on delivery)

X = Closed (in normal operation)

130



SMERST #lk 95

Dimensions size 95

LRDU1/LRDU2
A E NI FIR FATIE RALRR A Th 252 Hl (EEARFFIE)
Power control with pressure cut-off and electric stroke
limiter (positive characteristic)
292
262

32

9@ |

G
o

==

il

—
3
180

@J;

)
&
@

115

DRS/DRG

A Sa B Rk R ) B R 1 T A2 I 4
Pressure control with load sensing control
Pressure control remote controlled

255

157

115

EP1D/EP2D

8 bb B BB L kAN E ST VI A BE T I

Electric control with proportional solenoid and pressure
cut—off

262
252
315
©)
<
| o &
s
i
[y
(o]
I




SMERST #14%130/145

Dimensions size 130/145

LRDCS

WHEAVIE D, X XEME C MAHBEES S WIhRER LR
Power control LR with pressure cut-off D, cross sensing control C and load sensing control S

*) Bl
313 *) Center of gravity
174
5 MEY View Y - 29
170 JIRE4tHESR: clockwise rotation 10
134 Z T4 (i BTEHAESE) (counter—clockwise rotation) Z X
21 o /- ‘ ﬂ/
12.7 el (/- _ 7] @ 7
F ﬂ! / i2E M
[ 1% 0 #\% ©
I L &
@:/ |
< ] Y j S
g - w
® c Ty
161.6
E=SAE 744 204
152-4 (D) 2)
W 2 SAE J617 F305 (A11VO) / 353 (A11VLO)
(SAE 3)
171 ‘ 10
69 X T2 S
Byt
—H ) g
=l > o o |_l |
® @ =1p=
_ C | LREDH
B 3 a8 %
[ — |00 |o|w©
0 1 A | Fm ggggee rl
Z 310 Ty A
o $V e
AHiER EINER
W & FE R E V [EEEBLE W & FELE V mFEE
310 310 358 358
255 255 287 244
i) G - ””’lt_]
D\ A\
o | & ; @ | & o
| 4} — = b\
[ | w 2 L 1 19 | 1 _ 0| © A D iy
S+ =0 A ‘) o 81‘ IS A ) 2
‘ ¢ &/ o of o
9 & © &/ 5 b
i e f - [
& | ey J;Ia_rﬂ:éaf—
61.9 27.8 61.9 31.8

1) #¥& SAE J617-No. 3 IR ~F, FAFEHEE MR K FTE

2
1
2

) W B i%= SAE 3 FIST RSl B R~ L AR ST 44592 5 mm,
) Dimensions according to SAE J617-No. 3, for connection to the flywheel case of the combustion engine
) The case or length dimension with flange SAE 3 is 5 mm shorter than the standard case.

132




SMERST #14%130/145

Dimensions size 130/145
thim Shaft ends

Z 54 DIN 5480 HyTEZLH P 74 DIN 6885 HJ-T-4H S e84 SAE J744
W50x2x30x24x9g AS14x9x80 13/4in, 13T 8/16DP3)
55 67
82 &
« 136 ©) 36,
g - 36 z
o 12 g 5| 12
& oy 12 E1x0.2 =
s _ 8| DIN509 2 |
s - = |18 s sl [l
® = | R2.5/
44 E } 55
90 ]
65 75
i Ports #x/ Standard & Size? BAEADbar)?| k7 State
A LEERMO Service lineport | SAEJ518 tin 400 e}
EIE#84 Fixing thread DIN13 M12x1.75; 17 (%)
A, LEEHEO Service line port SAE J518 11/41in 700 =
S IR O Suction port SAE J518 3in 30 o
S1 EZEME4Fixing thread DIN 13 M16x2; 24 (iF) 26)
1m0 Tank port DIN 3852 M26x1.5; 16 (i) 10 5)
R HES O Airbleed DIN 3852 M26x1.5; 16 (iX) 10 X
ME R, ELARE
M1 Measurement point, positioning| DIN 3852 M12x1.5; 12 (i) 400 X
chamber
MEL, TEEHKHO
M Measurement point, service line| DIN 3852 M12x1.5; 12 (i) 400 X
port
SESEAMO
X ZEWEHIFRLN (S)FAITFEE | DIN 3852 M14x1.5; 12 (iR) 400 0
EAh PIE (G) ME S
ESEAMDO
Y EFHEBITERMREH.). 24 DIN 3852 M14x1.5; 12 (i) 40 0
E71 {18 (E) #1 HD W& S h
TEE#};’H& I:lr_
£ 32 XA (C) A ) - 400
z & (LR3) DIN 3852 M14x1.5; 12 (i) 40 o)
hER AR F (LG1) WA S
?%ﬂ%ﬁﬁ(?ﬁ?%}]%ﬁéiﬂ] O
a1 TRRAES (H.., U2), & . o
G eyt GE10- PLM ko HD| D'N 3852 M14x1.5; 12 (iF) 40 o
N EP BB S rh (B X H)

1) £F& DIN 332 FRAER O FL (75 & DIN 13 FRAERIERLL)
2) BXREXRZEHE, BEERESILE140 T EH—

i AR

3)ANSI B92.1a-1976, 30° EHhfE, FiEiR, MEAES,
NEZRS

4) RIBE T EIEF TIEES

5) IRIBLEMBNARRE, BREETIHT2

6)TE INiER

O =F17F, WMERE (ZHEHEL)
X =XH (EEEIEITH)

1) Center bore according to DIN 332 (thread acc. to DIN 13)
2) For max. tightening torque, please refer to general notes

on page 140

3)ANSI B92.1a-1976, 30° pressure angle, flat root, side fit,

tolerance class 5

4) Depending on adjustment data and operating pressure

5) Depending on installation position, T1 or T2 must be connected
6) with charge pump

O = Open, must be connected (closed on delivery)
X = Closed (in normal operation)

133




SMERST #14%130/145

Dimensions size 130/145

LRDU1/LRDU2
HAENVIRT IR FITIEBRAIZFATH R H] (IERIFIE)
Power control with pressure cut—off and electric stroke limiter
(positive characteristic)

313
283
G
[}
o
o
fe]
=

DRS/DRG

A G B AR I Y E 1R IR E R
Pressure control with load sensing control
Pressure control remote controlled

166

118

134

EP1D/EP2D

A bk Bl BB kA A0 E ) BI6 i BR 4

Electric control with proportional solenoid and pressure
cut—off

283
273

52.5

184

115

105




SMERST #iHg 190

Dimensions size 190

LRDCS

WHEAVIN D, XX RBERES C MMAFHBRIES S WIhRES LR
Power control LR with pressure cut-off D, cross sensing control C and load sensing control S

MEY ViewY

IR £THEEE clockwise rotation

(I ETETHESE) (counter—clockwise ?4

131

——

) B
*) Center of gravity

379
203.5
190.5
170°) Z T M
27 - _ﬁ_/
15.9 A7 _ / B :EBE
/j\<
Vs
s
1)
7EZ=SAE J744
165-4 (E) W
318.8 +
139.8 X
PEMER
W (@ BER L E V [aEELE
346.8 346.8
281.3 281.3
B E——1
([ e
o= o O\
\ D
] - I YGREEE
‘ F
O O
o[ ©f =
[N} .—s“é‘?l
699 365

1) #& SAE J617-No. 3 IR, FTFEEZE NV T
2) HH %= SAE 3 RS B R~ L AR AT A58 5 mm,
1) Dimensions according to SAE J617-No. 3, for connection to the flywheel case of the combustion engine

2) The case or length dimension with flange SAE 3 is 5 mm shorter than the standard case.

135

rotation)
3
— '|'1 S
Y A 1] 1S
(S) Y
A
o %t//TZ
[op] =
©
‘; &
2245
262.5
5= SAE J617 341.8 (A11V0O) /390 (A11VLO) 2
(SAE 3) 16 |
1oll[
oo
©(n
5SI88 B8 [T
Q| Q| Q| 8l
HER
W[5 B SR E V [@FERRE
395 395
319 272
| [
—~ ]
© hd o A\
| ~ S <
| _ 5 1 Iy ) ] ©
S 8 A /) 8l
. Q1 Of
QO | O }
69.9 365



SMERST #14% 190

Dimensions size 190
thits Shaft ends

Z 744 DIN 5480 KL P #& DIN6885 HIF 4, S #£#2H SAE J744 T 72 SAE J744
W50x2x30x24x9g AS16x10x100 13/4in, 13T 8/16DP 2in, 15T 8/16DP3)
67 80
5 = 3 36 8 36
g 12 gg 15 E1x02 = =
© ®© ®©
= H 8l DIN509 5 5
© el 15 g | = 2 8 | . 2
8 s, &8 > 8 5 5| | “‘
) S | D R2.5/ R4
/ >
5b 66
e = 113 4
65 75 88
i# 0 Ports #xt Standard #1% Size? BAEH(bar)’| k7 State
A IfEE MmO Servicelineport | SAEJ518 11/2in 400 o)
A1 BEIERY Fixing thread DIN 13 M16x2; 21 (iR)
S &0 Suction port SAE J518 31/2in 30 .
S1 BEIESFixing thread DIN13 M16x2; 24 () 26
1t Ei O Tank port DIN 3852 M33x2; 18 (iF) 10 5)
R H#S0O Airbleed DIN 3852 M33x2; 18 (i) 10 X
MBS, T
M1 Measurement point, positioning| DIN 3852 M12x1.5; 12 (&) 400 X
chamber
MER, TEEKHO
M Measurement point, service line| DIN 3852 M12x1.5; 12 (iR) 400 X
port
SESEAMO 400
X EHBHIFBMN (S)FITFEEE | DIN 3852 M14x1.5; 12 (iR) 0
EAH 1187 (G) MBS F
SESEAMAO
Y EWHETERMSEH...). 2% DIN 3852 M14x1.5; 12 (iR) 40 (0]
E7 YI#R (E) #71 HD RE S Hh
X Bz (C) . 5
Z s (LR3) DIN 3852 M14x1.5; 12 (if) 40 o
NEMAES (LG1) MBS H
E%Eﬁ:ﬁ (E%}Jfﬁg)giﬂl m] -
1THEPRALES (H.., U2), ) -
G HIEQEEL GE10 - PLM 9 HD DIN 3852 M14x1.5; 12 (i&R) 40 (0]
#1EP K& S mh (B0 < i)

1) #& DIN 332 #RAERI PO FL (FFE DIN 13 FRERIR L)
2) BREAREHE, EAERESLE140 R LEH—

ARSLAA

3) ANSIB92.1a-1976, 30° EHfs, FHiR, MEES,

NEEZERS
4) RIBATEIEFITIEEA

5) IRBRRMBNARE, BREETIHT2

6)HniER
O=4#TF, WHHEE (ZFHEHEL)
X =XH (EEFHETH)

1) Center bore according to DIN 332 (thread acc. to DIN 13)

2) For max. tightening torque, please refer to general notes
onpage 140

3) ANSI B92.1a-1976, 30° pressure angle, flat root, side fit,
tolerance class 5

4) Depending on adjustmentdata and operating pressure

5) Depending on installation position, T1 or T2 must be connected
6) with charge pump

O = Open, must be connected (closed on delivery)

X = Closed (in normal operation)

136



SMERT #iHg 190

Dimensions size 190

LRDU1/LRDU2

A E NI FI R FATIERALER A Th 2 6l (IEARAFIE)
Power control with pressure cut-off and electric stroke limiter
(positive characteristic)

379
321.5

775

2275

142.5

DRS/DRG

A S8 Rk LR il B 1 I A2 E Ay
Pressure control with load sensing control
Pressure control remote controlled

379

137

EP1D/EP2D

A b B FB AR FR R 118 i EE T

Electric control with proportional solenoid and pressure
cut—off

379
321.5

775

o

1875

142.5

118.5




iB4hIE 5N R~ Through Drive Dimensions

£ SAE J744 - 82-2 (A) 5/8in, 9T 16/32 DP"” (SAE J744 — 16-4 (A) KO1
AT nEshE, 4 ANSIB92.1a-1976 3/4in, 11T 16/32DP” (SAE J744 — 19-4 (A-B)) K52
A2 e A A2 A3”
8 Size K01 K52
1 O-Ring? 40 240 [ 240 | 8 | WMi10x1.5; 15(%)
60 257 257 | - M10x1.5; 15 (iF)
75 275 275 | - M10x1.5; 15 (&)
A3 0
] Ha 95 306 306 | - M10x1.5; 12.5 (iF)
b 130/145 329 | 329 | - M10x1.5; 12.5 (&)
130/145* | 363 363 | - M10x1.5; 12.5 (iF)
190 359.8 | 359.8 | - M10x1.5; 13 (&)
190* 394 394 | - M10x1.5; 13 (iF)
Al 260 385 385 | - M10x1.5; 13 (iF)
BEREZEE 260* 427.3 | 427.3| - M10x1.5; 13 (iR)
) EEMERGES
72 SAE J744 - 101-2 (B) 7/8in, 13T 16/32 DP" (SAE J744 - 22-4 (B)) K02
AT RMnEmM®E, %4 ANSIB92.1a-1976 1in, 15T 16/32DP" (SAE J744 - 25-4 (B-B)) K04
AFH@umnBHE, %4 DIN5480 W35x2x30x16x9g K79
1% 40 71 145 LRTLEK mig | Al A2 A3
a - @ Size | Ko2 | K04 | K79
40 244 | 244 10 | M12x1.75; 19 (%)
60 261 | 261 | 261 | 10 | M12x1.75; 19 (i)
A3 75 279 | 279 10 | M12x1.75; 19 (F)
95 303 | 303 | 303 | 10 | M12x1.75; 16 (if)
/ 130/145| 326 | 326 | 326 | 10 | M12x1.75; 16 (F)
j 130/145*| 360 | 360 | 360 | 10 | M12x1.75; 16 (iF)
190 |371.8| 369.8 [361.8| - M12x1.75; 15 (iF)
190* | 404 | 404 | 394 | - M12x1.75; 15 (&F)
260 395 | 395 | 395 | - M12x1.75; 15 (iF)
, .5?‘%’?5 260* |437.5| 437.5 |437.5| - M12x1.75; 15 (i)
FEHMH 190 #0260 v, FLEFAR#L AT $T5E3h 45° o
) HEEMERGES
72 SAE J744 - 127-2 (C) 11/4in, 14T 12/24DP" (SAE J744 - 32-4 (C)) K07
ATHBHAOEHE, ¥4 ANSIB92.1a-1976 11/2in, 17T 12/24 DP"” (SAE J744 -38-4 (C-C)) K24
BATHBMEEME, %4 DIN5480 W30x2x30x14x9g K80
W35x2x30x16x9g K61
g A1 A2 A3®
Size | K07 | K24 | K80 | K61
@ , @ 60 272 = 265 | 265 | 13 | M16x2; 20 (iF)
. A3 75 290 = 283 | 283 | 13 | M16x2; 20 (i)
: Vi 95 318 | 318 | 318 | 318 | 13 | M16x2; 16 (i)
= = 130/145 | 330 | 330 | 330 | 330 | 13 | M16x2; 20 (iF)
130/145*| 364 | 364 | 364 | 364 | 13 | M16x2; 20 (i)
) HEEMERGES
213 Al
BREERE

& Note:
RIGEZTEFH90° . HRAMBMEN R, MRBEIFEUBAIHKER,
The mounting flange may be turned through 90° . Standard position as illustrated. Please state in clear text if required.
1)30° ENf, FiER, MEARS, AEFR5 30° pressure angle, flat root, side fit, tolerance class 5
2) O 3k, B&ERESEEM O-ring included in the delivery contents
3) DINB,AXmAKEHLE, EMAiERIESINE140 T EH—ARBLAA
DINB, For max. tightening torque, please refer to general notes on page 140

138



B53EE R~ Through Drive Dimensions

7R SAE J744-127-2+4 (A) 11/4in, 14T 12/24 DP:) (SAE J744 - 32-4 (C) K07
BB HEE, A& ANSIB92.1a-1976 11/2in, 17T 12/24 DP’ (SAE J744 - 38-4 (C-C)) K24
LB B HaE, #F& DIN 5480 W30x2x30x14x9g K80
W35x2x30x16x9g K61
A2
N O-RingQ) A A1 A2 A3’
] o Size| K07 | K24 | K80 | K61
A3 190 | 367.8 | 367.8|367.8|367.8 | 13 | M16x2; 19 (iF)
o Lo - o s 190*| 400 | 400 | 400 | 400 | 13 | M16x2; 19 (if)
- ® 260 [ 391.5 |391.5(391.5(391.5| 13 | M16x2; 19 (i)
260*| 433.5 | 433.5|433.5| 43.5 | 13 | M16x2; 19 (i)
Lﬁ@ @ N EEMERMES
115 At
181 BEREEKZ
%2 SAE J744 -152-4 (D) 11/4in, 14T 12/24 DP" (SAE J744 - 32-4 (C)) K86
BB HeE, F4& ANSIB92.1a-1976 13/4in, 13T 8/16 DP" (SAE J744 — 44-4 (D) K17
B =E, 755 DIN 5480 W40x2x30x18x9g K81
W45x2x30x21x9g K82
A2 W50x2x30x24x9g K83
A3 <] O-Ring? mg | Al A2 A3’
1 Size | K86 | K17 [K81|K82|K83
75 290 | - [290| - | - | 13 | M20x2.5; 28 (iF)
- 95 317 | 327 [317|317| - | 30 | M20x2.5; 25 (iF)
© .
= N 130/145 | 340 | 350 |340|340|340| 30 | M20x2.5; 25 (iF)
© 130/145*| 374 | 384 [374|374|374| 30 | M20x2.5; 25 (iF)
190 392 | 392 (392|392|392| 13 | M20x2.5; 22 (iF)
R 190* | 424 | 424 |424|424|424| 13 | M20x2.5; 22 (iF)
260 417 | 417 [417|417|417| 13 | M20x2.5; 22 (iF)
5*9*1% 260* | 459 | 459 |459|459|459| 13 | M20x2.5; 22 (iF)
RREZ
' ) BEMERGE S
72 SAE J744 - 101-2 (E) 13/4in, 13T 16/32 DP" (SAE J744 - 32-4 (C)) K72
TEHEHECHEE, 754 ANSIB92.1a-1976 W50x2x30x24x99) K84
TEEMBXHEE, #F& DIN5480 A9 W60x2x30x28x9g K67
§ AL A1 A2 A3?
O-Ring? | Size | K72 | K84 | K67
190 | 376.8|376.8| - 19 M20x2.5; 20 (i)
190* 409 | 409 - 19 M20x2.5; 20 (i)
e 260 417 | 400 | 400 | 19 M20x2.5; 20 (i)
T % 260* 459 | 4425 | 442.5| 19 M20x2.5; 20 (iF)
N HEEMERAES
N
Al
ERfER=

F2 Note:
RIGEZAER90° . REMBNEFRR. NRFEEFEURAIENXER,

The mounting flange may be turned through 90° . Standard position as illustrated. Please state in clear text if required.

1)30° EHf, FHER, MARES, AZ%%H5 30° pressure angle, flat root, side fit, tolerance class 5
2) O 43R, BETERESEEM O-ringincluded in the delivery contents
3) DINBEXEmKEEHIE, EAEERIESHNE140 T LM —A%IREAA

DINB, For max. tightening torque, please refer to general notes on page 140

139




A11V(L)O Fit{#%i® Overview of Attachments for A11V(L)O

[ s
BRI | e | s A1ovs | AToves ST
g H’ﬁgﬁg K8 | A11vVO 0/32 ) 0/5(3 )| A4F0 | AsvGg | Atove | sima )ﬁﬂﬁ'ﬁﬁ
- 11 & | | 7| N
& (%h) s () | A () ML (Gh) | NS i) | S ()| ERER
) _ 18 (U) 10 (U) B _ B HLEE A /N | 40...260
82-2(A) | 5/8in K01 s 00"
3/4in K52 - 18 (S) 10 (S) - - - - 40...260
101-2(B) | 7/8in K02 - 28 (S. R)[28(S. R)|16, 22, 28 - 18(S) |#LEEX/NN | 40...260
45(U) @45(U. W (S) g 20-32'
HLEEK /N G
M 38-45
. 45 (S. R) B og(s) | 28+ 45 B
1in K04 40(S) |45(S. R) 60 (U. W (S) S) 40...260
W35 K79 40 (2) - - - - - - 40...260
. 71(S. R)| 60(S)? 40, 56
127-2 (C K07 60 (S - 63 (S - 60...260
(C) | 1 1/4in S 100w | 85 71(S) )
11/2in K24 - 100(S) | 85(S) - - - - 95...260
W30 K80 - - - - 40, 56 (2) - - 60...260
40, 56 (A)
W35 K61 60 (Z - - - - - .2
(2) 1) 60...260
152-4 (D) | 11/4in K86 75 (S) - - - - - - 75...260
. 95, 130 90
13/4 K17 N 14 - = ¥ - - 130...260
n 145 (S) 0(S) 125 (S)
W40 K81 75 (2) - - - 125 (2) - - 75...260
90
w45 K82 z - - - N - - 95...260
95 (2) 125 (A)
W50 K83 [130. 145 (2) - - - - - - 130...260
) 180
165-4 (E) | 13/4in K72 [190. 260 (S - - - N - - 190...260
(E) (S) 250 (S)
W50 K84 190 (2) - - - 180 (2) - - 190...260
W60 K67 260 (Z) - - - - - - 260
1) Rexroth #EEHFHEEER R, EFERIEEE,
Q) NHEH 4L REFZH ATOVO AT IALEZE A11V(L)O 190 #1 260,
1) Rexroth recommends special versions of the gear pumps. Please ask.
2) Only A10VO with 4-hole mounting flange can be mounted to A11V(L)O 190 and 260.
HEEA11V0 + A11VO Combination Pumps A11VO + A11VO
BEKEA"
A11VO =%

—= M40 | MAE60 | 875 | #4895 | #MAE130/145 | #MHE130/1457 | #4190 | M4&190” | #Mi& 260 | Mi& 260
#ig 40 - = - - = - - - - -
#1& 60 490 507 - - 3 - - - - -
Mg 75 - 525 550 - - - - - - -
HIg 95 528 560 577 604 - - - - - -

% 130/145 | 551 572 600 627 650 698 - - - -

#1145 130/145”| 585 606 634 661 684 732 - - - -
& 190 586.8 | 609.8 | 652 679 702 750 723.6 772.3 - -
& 1907 619 642 684 711 734 782 755.8 804.5 - -
#1& 260 620 | 633.5 | 677 704 727 775 746.8 795.5 772 828
#i& 2607 | 662.5 | 675.5 | 719 746 769 817 789.3 838 814.5 870.5

1) HERARATEER (TFR) B Z % (2485 DIN 5480) Bt
1) When using the Z shaft (splined shaft DIN 5480) for the attached pump (2nd pump)
2) HAEMERMEIS Version with charge pump

LHiTMHE A RE,

—RM_FHESEZRLAA v EiE,

—RITHRE + ZRITHERED

When ordering combination pumps, the type designations of the
1stand 2nd pumps must be connected by a "+".

Ordering code 1st pump + Ordering code 2nd pump

iT£ R%IOrdering example: A11VO130LRDS/10R-NZD12K61 + A11VO60LRDS/10R-NZC12N00

140



REFZE Installation Notes

L&l General

ERXMBITEEDR, HEEETHLTARLRTHERERFHRES, EEAREBANERKE, BEEF ERTEEDT, BARS
AR B R EEWHEE,

During commissioning and operation, the axial piston unit must be filled with hydraulic fluid and air bled. This is also to be
observed following a relatively long standstill as the system may empty via the hydraulic lines.

SRR A R LB EREHAHD (T1, T2) HEMEHAE, B0 SLAHRNBNENREEIKE 0.8 bar HITES (R MiE
ZR) 5 0.6 bar (F B MER) LT,

The case drain in the case interior must be directed to the tank via the highest tank port (T1, T2). The minimum suction
pressure at port S must not fall below 0.8 bar absolute (without charge pump) or 0.6 bar (with charge pump).

ERAIRAT, Wil EMEEMhERATBNHEPRERCATHELE,
In all operational conditions, the suction line and case drain line must flow into the tank below the minimum fluid level.
RIEAME Installation position

BESRUTRE, HERRMERNEREMH,
See examples below. Additional installation positions are available upon request.

EiMfE T HRE (fRif) EREETRE

AR F AN RIRA AL, RE TN RIEHAL,

BNHREME: 102, BFRARFRHESE

Below-tank installation (standard) hsmax = 800 mm,

Pump below the minimum fluid level of the tank. BS A11VLO FEEMER) A2 A REEMBE EAMIZIT,
Recommended installation positions: 1 and 2. ZHENEB7EN L) AEHHERTNERE (FR

E71 0.5 bar) AT AR LE = M ABHERL

WFHEHEAEH ., HFERHIF. HD 70 EP = Y32 HliE
%‘éﬁ:; =MHEEIZE LA Vg = 5% Vgmaxo

Above-tank installation

Pump above the minimum fluid level of the tank.
Observe the maximum permissible suction height

hsmax = 800 mm.

The version A11VLO (with charge pump) is not designed
for installation above the tank.

Recommendation for installation position 7 (shaft up): A
check valve in the case drain line (opening pressure 0.5
bar) can prevent the case interior from draining.

For control options with pressure control, displacement
limiters, HD and EP control, the minimum displacement
Setting must be Vg = 5% Vgmax.

1 2 5 6
SB
e .
[_ E - | ht min ht min
e Prmin hmin
loie] e
— T HSH
R
3 4
SB R,
[__:_ = ht min ht min ﬂ
- Thmm Pmin T
amin
& 2
At
N
T (R
@ | 9

141



hsmax = 800 mm, htmin =200 mm. hmin=100 mm, SB = i§ & 254K (#%4K) Silencer plate (baffle plate)

LHigitmAR, MABHERMBREHERZ BFEBHNZ Ban., UHSENANERAERHEEENEERSE,

When designing the tank, ensure adequate space amin between the suction line and the case drain line to prevent the heated,
returned fluid from being directly drawn back out.

nstalat L tion| H 4 Air bleeding| il Filling nstaler o ion|HES Air bleeding| i Filling
1 T S+Ti 5 Li+ Lo La(S) + Li(T1)
2 R S+Te 6 R+Le La(S) + Li(T2)
3 Ti/Te S+TiTo 7 Li+ Lo La(S) + Li(Tw/T2)
4 R S+TiT2

R EFEBM Installation Notes

MAEZE Tankinstallation
FIEFMBWRKM AL, Pump below the minimum fluid level in the tank.

hsmax = 800 mm, htmin = 200 mm, hmin =100 mm.
SB = A28 (#44R) Silencer plate (baffle plate)

LHigitmAR, MARBMERNEXEMERZ BFEBHZE ann, URELTMAKEEREBEEENEERSY
When designing the tank, ensure adequate space amin between the suction line and the case drain line to prevent the heated,
returned fluid from being directly drawn back out.

REME . . . ™
Installation position| % Air bleeding iX i Filling

P T EEFEFO T Ta
9 R R %1 S MO BT,
10 4 90

142



2258 General Notes
A11VO RigZit A FHAREEF, The A11VO pump is designed to be used in open circuits.
HEAEZETHENTBAL. ARSI HEEARFET,

Project planning, assembly and commissioning of the axial piston unit require the involvement of qualified personnel.
TEE M OFMIhAEm O A FRIEER, The service line ports and function ports are only designed to accommodate hydraulic lines.
BITHBERIETEAR, WEEZETH (A EREE) ARFEERNHIREE, FREUE SRS (G EHTR).

During and shortly after operation, there is a risk of burns on the axial piston unit and especially on the solenoids. Take appropriate safety
measures (e. g. by wearing protective clothing).

RIFHEEETHN AR TERS (TEES . BKRRE), FETRSNE,

Depending on the operational state of the axial piston unit (operating pressure, fluid temperature), the characteristic may shift.

JE 7738 A Pressure ports:

MOMEEBEUEITTATFRANEEN, IR REHEFLABREZETHNEBENZEREHEENENTEEE (EN. RE. &ER.
mE)o

The ports and fixing threads are designed for the specified maximum pressure. The machine or system manufacturer must ensure that the
connecting elements and lines correspond to the specified operating conditions (pressure, flow, hydraulic fluid, temperature) with the necessary
safety factors.

ItANE S RIEIRFNIE AR A EE, The data and notes contained herein must be adhered to.

& AT E Bl %8 The following tightening torques apply :

bhE A ST AR I240 7L Threaded hole for axial piston unit:

RARFZEHE Moma S FIBIALERAE, AMEETZE, AXHE, BSATE,

The maximum permissible tightening torques MG max are maximum values for the threaded holes and must not be exceeded. For values, see
the following table.

¥k Fittings :
XFRT BRI ZEHE, BESRFERITH,

Observe the manufacturer's instruction regarding the tightening torques of the used fittings.

[E] E #24£T Fixing screws:
BXifE DIN 13 B EIEUEET, FATEIRYE VDI 2230 3t H X B BT HMEE,
For fixing screws according to DIN 13, we recommend checking the tightening torque individually according to VDI 2230.

£ %4247 Locking screws:

X FHiEEZETHHTIREN B YRR, B XBETEENEEEE My, BXEE, BERT%R.

For the metal locking screws supplied with the axial piston unit, the required tightening torques of locking screws MV apply. For values, see the
following table.

%= mEBME R EHRER DIN EN I1SO 13849 Hyili A Sf R &M EHITIMER A
The product is not approved as a component for the safety concept of a general machine according to DIN EN ISO 13849.

SR S R EIHRAE SHRIBSTRT TR M0 Z B4R WAE
AR~ Max. permissible tightening Required tightening torque A
Thread size torque of the screw thread for locking screws Hexagon socket
Mgmax MV

M12x1.5 DIN 3852 50 Nm 25 Nm 6 mm
M14x1.5 DIN 3852 80 Nm 35Nm 6 mm
M22x1.5 DIN 3852 210Nm 80 Nm 10 mm
M26x1.5 DIN 3852 230Nm 120 Nm 12mm
M33x2 DIN 3852 540 Nm 310Nm 17 mm

143



	欧盛样本1
	页 1
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 102
	页 103
	页 104
	页 105

	欧盛样本2
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41

	欧盛
	欧盛样本1
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101



